Conversion Octal en Décimal (C)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Octal = 11 2. Octal = 41
Décimal = Décimal =

3. 4.
Octal = 210 Octal = 427
Décimal = Décimal =

g Octal = 332 0. Octal = 1537
Décimal = Décimal =

v Octal = 1712 8 Octal = 555
Décimal = Décimal =

0. o 10. L
Octal = 12526 Octal = 6706
Décimal = Décimal =
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Conversion Octal en Décimal (C) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Octal = 11 2. Octal = 41
Décimal = 9 Décimal = 33
3. 4.
Octal = 210 Octal = 427
Décimal = 136 Décimal = 279
g Octal = 332 0. Octal = 1537
Décimal = 218 Décimal = 863
v Octal = 1712 8 Octal = 555
Décimal = 970 Décimal = 365
0. o 10. L
Octal = 12526 Octal = 6706
Décimal = 5462 Décimal = 3526
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